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Priya buys a pencil case and four pencils.

She pays with a £10 note and receives the change below.

The pencil case costs £2.95.

How much does one pencil cost?

Tick the answer to the multiplication.

Ij nine hundred and sixty

|:| ninety-six thousand

cle‘_éli the multiplications below that give the same answer.

8x12 12 x 800

KS2 Maths / Set A/ Paper 3
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nine thousand six hundred

nine hundred and six

8 x 1200 40 % 60
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ides.
Visitors at a theme park can use a tram to travel between the ri
Part of the timetable for the tram is shown below.

Roller Coaster | Spinning Teacups | Log Flume % 1%_27
oss | oa0
10:56

Cara catches the 10:44 tram from the Log Flume.
She wants to go on the Bumper Cars next.

What time will she arrive at the Bumper Cars?

How long is the tram journey from the Roller Coaster to the Ghost Train?

minutes]

Karen is at the Spinning Teacups.
She wants to meet her friends at the Ghost Train at 10.45 am.

he latest time she can leave the Spinning Teacups?

e
[

@ This question is about square numbers.

b giossion o

2 squared + I:' squared

KS2 Maths / Set A/ Paper 3
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Nicola bakes some loaves of bread.

She sells two thirds of them.

She divides the rest equally between 4 of her neighbours.

Each neighbour gets one and a half loaves.

How many loaves did Nicola bake?

e e o

’I

What is the scale factor of the enlargement?

KS2 Maths / SetA/ Paper 3
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Write the missing fraction in each box below.
Give your answers in their simplest form.

g
15

4
5

@ Lisa says “The smallest common multiple of 4 and 6 is 24”.

Is what Lisa says true or false? Tick the correct box.

D True |:’ False

Explain how you know.

KS2 Maths / Set A/ Paper 3
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Ryan has R pop CDs, Alice has A pop CDs.

Alice has three times as many pop CDs as Ryan.

Which of the following ‘show this? Circle all the correct answers.

R =3A A=3+R 3A=3R

R=A=+3 R=A-3 A=3R

. Tina and her brothers are sharing a large tub of ice cream.

Tina eats % of the tub of ice cream.

She shares what's left of the ice cream between her three brothers.

! What fraction of the whole tub does each brother get?

KS2 Maths / Set A/ Paper 3
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Lucy and her friends painted a giant picture.

Crovuinig
They used 4 litres of paint. A I

Al the paint came in 500 ml bottles. L
The bottles cost £2.67 each. - Paint |
500 ml
8267

‘What was the total cost of the 4 litres of paint they used?

R
KS2 Maths / Set A/ Paper 3

12

MHGP25U





image1.jpeg
Mathematics

Key Stage 2

Set A
Practice Paper 3
Reasoning

Calculator Not Allowed
40 minutes

Middle name

Date of birth Day ’ Month





image2.jpeg
@ Look at the shapes below.

o7

N

Which two shapes are quadrilaterals?

—land [__‘

.~ Which two shapes contain parallel lines?

e

@ The numbers below show the populations of four different towns.

102 600 102 514 77 800 110 300

Putfhe pépuiafions- in ofder of size, from largest to smallest.

i | e | |

largest smallest
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@ Balloons are sold in this packet.

Balloons

3 blue @
@ 4 red

1 green

Ari has bought 12 packets for the school fair.

How many red balloons does she have?

Ari has invited 24 friends to her birthday party.
She wants to give them a balloon each.

How many packets should she buy?

B

@ Circle the numbers that add together to give 8080 080.

Eight million Eight hundred
Eight hundred thousand Eighty
Eighty thousand Eighty-eight

Eight thousand Eight

KS2 Maths / Set A/ Paper 3
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@ Rick has a bag of flour weighing 1.4 kg.
He puts some of his flour onto the scales.
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@ The shape below is made up of cubes. Each cube has a volume of 1

What is the volume of the shape?

Amy has three of these shapes.
She stacks them to make a tower.

What is the volume of Amy’s tower?

Tim eats the same number of apples each day.
He eats 21 apples each week.

" How man, gbbles does he eat in 365 days?
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Two faces of this cuboid have been shaded.

 Circle the two nets which could have been used to make the cuboid.

Amy divides a number by 100.
When she rounds the answer to 1 decimal place, she gets 4.6.
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